AT Paper HEE

sub—Section I: Number of Cuestiom =50
DIRECTIONS for questions 1 to 3: Answer these
guestions bazed onthe table given below.

The following table provides the data on the different
coutries and location of their capitals. Answer the
_following questions on the basis of this table.

(@ [ Counizy T apital Latiude | Lengiude
Ho.

1 Atgertina Buenos Adres | 34303 | S820E

2 Australia  attherta 35155 (14902 E
3 Asttia Vieta 42 12H | 1622 E
4 | Bulgatia Sofia 4245H | 2320E

] Brazi Erasilia 15475 [ 47 55E
& | Canada COittawra 452TH | T542E
7 Cattbodia Phwomm Pernh 1133HW [ 10455 E
8 E cuador Chaito 0153 TEI5E
Q Ghara Aocra 535 W N6E

10 | Iran Tehera 3544H | 5130E
11 | Ireland Drablin 53200 | 618E
12 | Libya Tripoli 3249H (1307 F
13 | Ifalaysia Eudalamgne | 39H 10141 F
14 | Petu Lima 12055 |77 0E
15 | Poland Wat sawr S213H |210E
16 | Hew Zealand Wellingion H1T73 | 1T447 E
17 | Baud Arakia Riyadh 2441 H | 4842E.
12 | Spain Iladid AW | 3A8W
19 | Sl Latka Calombio 636 N AT 5EE
20 | Zambia Lusaka 13388 [ 4816E
L. What percentage of cities located within 10°E

and 40°E [ 10-degree East and 40 degree East)

lie in the Southern Herdisphere?

a 15%

b 20%

co 5%

d. 30%

2 The aumber of cties whose names begin with
a consonant  and are in the Mothem
Hermisphere ifi the table
a. exceeds the mumber of cities whose names

begin with a consonant and are in the
southern hetmd sphere by 1

b, exceeds the number of cities whose natmnes
begin with a consonant and are in the
southern herrd sphere by 2.

c. is less than the number of cities whose
tatnes begin with a consonant and are in
the sast of meridian by 1.

d. islessthan the mumber of countries whose
natne begins with a consonant and are in
the sast of the mendian by 2,

3 The mtio of the mumber of countries whose
natne starts with vowels and located in the

southern  Hemisphere, to the number of
courtries, the mame o whose capital cite starts
with a wowel in the table above iz

a 3z

K]

h.
|

d 43

DIRECTIONS for guestions from 4 to 11: Fach
ttem iz followed by two statements, & and B Answer
gach questions uang the following instmictions.

Chooze | ifthe question can be answered by one of the
staterments alone bt not by the other,

Choose 2 if the question can be answered by using
either statement alone.

Choose 3 if the question can be answered by using
both the statements together, but cannot be answered
by us either statement alone.

Choosze 4 if thequestion cannot be answered by either
of the statements.

4. In a hockey mateh, the Indian team was behind
by 2 goals with 5 minutes remaining. Did they
wity the match?

A, Deepak Thaloar, the Indian striker, scored
3 goals in the last fve minutes of the
tratch,
B, Korea scored a total of 3 goals in the
tratch,
1
2
3
d 4
) Four students were added to a dance class,
Would the teacher be able to dwvide her
students evenly into a dance team (or tearns)
of &7
A0 If 12 students were added, the teacher
could put everyone in teatns of 8 without
atry leftowers.

B. The munber of students in the class is
curtently niot disisible by 8.

oo

| L b —

w7
(Z+yilE+ 1An=4
(- 500 — (y — 509
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10.

11.

A dress was ilitially lsted at a price that

would have given the store a profit of 20

percert of the wholesale cost

What was the wholesale cost of the dress?

A After reducing the listed price by 10

percent, the dress sold for a net profit of

10 dollars.

The dress sold for 50 dollars.

1

2

3

4

I5 500 the awerage (arithenetic mean) score ok

the GIVATY

A Half of the people who take the GIAT
score above 500 and half of the people
score el ow 500,

B. The Mighest GWAT score iz 800 and the
lowrest scoreis 200.

o om

OSR EEE e SR
i
Wt
—

2
3

d 4

People in a dub either speak French or

Fussian or both, Find the munber of people

a club who speak only French,

A, There are 300 people in the cub and the
munber of people who speak both French
and Fussian iz 196

B. The munber of people swho speal: only

Fussianis 58

|

2

3

4

sumd of Fao 38,500 was divided among

Jagdish, Purit and Gitich, Who received the

TR A omt?

A Jagdishrreceived 2/9 of what Punit and
Girizh together received.

B. Punit received 3/11 of wiat Jagdish and

Girish together received.

|

e oo R

o oW

2
3
4

DIRECTIONS for guestions 12 to 17: Answer the
questions independent of each other...

12,

Four students (Ashish, Dhlanraj, Feliz and
marneet) sat for the Cotrnon Entrance Exam

13,

14.

for Management (CEEND. One student got
adrgsion offers fom three Mational Institutes
of Management (MIWD, another in two MW,
the third in one MNIM, while the fourth got
note. Below are some of the ficts about who
got adrnission offers from how many Bs
and what 1z their educational background.

1. The one who is an engineer didn’t get as
traty admissions as Ashich.

2. The one who got offer for admissions in
two MNIVz isn't Dhatraj nor is he a
chartered accountant.

3. Barneerisan ecofiotrst.

4. Dhatwaj isn't an engineer and received
tnore adtrission offers than Ashizh.

5. The medical doctor got the most number
of adtnission offers.

Which one of the following statements is

necessatily true?

a. Ashish iz a chattered accountant and got
offer for adimigsion in three MIvs.

h. Dhatiraj iz a medical doctor and got
admizsdon offer in one MIWD

C. | Bameer 1z an  econormst who o got
admissdon offers in two MV,

d. Feliz who 12 not an engineer did not get
any offer for adimssion.

Fiwe hows went to a store to buy sweets. Cne

boy had Fs 40, Another boy had Fs. 30, Two

other hoys had Fs 20 each. The remaining
boy had Fz 10, Below are some more facts
ghot the indtial and final cash postions.

1. Alam started with more than Jugraj.

2. Bandeep spent B, 130 more than Daljest.

3. Ganesh started with more money than just
only one other person.

4 Daijeet started with X3 of what Sandeep
started with.

3. Alam spent the most, but did not end with
the least.

6. Jugraj spent the least and ended with more
than Alam o Daljest.

7. Alamm spert 10 titmes meore than what
Ganesh did.

In the choices given below, all statements

emcept one are false Which one of the

following staternents can be tue?

a. Alam started with Fs40 and ended with
F=9.350

b, Bandeep started with F:=30 and ended
with Rz 1 .0

c. Ganesh started with Fs.20 and ended wath
F.z.4.00

d. Jugra) started with Fz.10 and ended with
F.=77.00.

In a hospital there were 200 Diabetes, 150

Hyperglycaernia and 150 Gastro-ententis

patients. OF these, 80 patierts were treated for

hoth  Duiabetic and Hypergycaerda, Sty
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15,

16.

patients were treated for Gastro-enteritis and
Hyperglycaernia, while 70 were treated for
Diabetes and Gastro-enteritiz. Some of these
patients have all the three dizeases Doctor
Dentis treats patients with oy Diabetes
Dioctor Homrds  treats patients wath  only
Hyperglycaernia and Doctor Gerard  treats
patients with only Gastro-enteritis. Doctor
Faul iz a genemlist Therefore, he can treat
patients  with rwltiple diseases.  Patients
always prefer a specialist for their diseasze I
Dr. Dends had 80 patients the other three
doctors can be armanged in termms of the
tunber of patients treated as:
a. Paul > Gemard » Hortnd s
b, Paul = Hortrds > Getard
o Gerard = Paul = Horrnis
d. none ofthese
Three children won the prizes in the Bournvita
CQuiz contest. They are from the zchoals;
Loyala, Convent, Little Flowers, which are
located at different cities. Below are some of
the facts about the schools, the children the
ity they are from
1. One ofthe children isBipin.
2. Loyada School’s contestart did not cotme
first.
3. Little Flower's contestant was ramed
Fiaz.
4. Convent School is not in Hyderabad.
The contestant fom Pune took third place,
f. The contestant from Pune iz not from
L oyala Schoal,
7. The contestant from Bangalore did not
come first.
8. Comwent Bchool’s contestant’ s name 15 not
Balhir Which of the following statements
15 true?
17 prize: Riaz (Litfle Flowers), ' prize:
Bipin (Comwverty, 3 prizes  Balbir
(Loyola),
b, 1% prize; Bipin(Cotrvent), Zindprize: Fiaz
(Little Flowers), 7 prize; Balbir (Loyala).
1 prize’ Riaz (Little Flowers), 7 prize:
BaltirLoyola), ™ prize: Bipin (Corrent).
d. 1% prizer Bipin ( Comvent), 22 prize: Balbir
(Loyola), 3% prize: Fiaz (Little Flowers).
Two boys are playing on a groun. Both the
hoys are less than 10 years dld. Age of the
younger boy iz equal to the cube root of the
product ofthe age of the two boys, [fwe place
the digit representing the age of the younger
hoy to the left of the digit representing the age
of the elder boy, we get the age of the father of
the younger boy, Sinilady, we place the digit
represerting the age of the elder boy to the left
of the digit representing the age of the younger
hoy and divide the foure by 2, we get the age
of the mother of the younger boy. The mother

ol

C.

17.

of the younger boy is younger than s father
by 3 wears. Thern, what iz the age of the

younger boy,
a. 3
b 4
oo 2

d. none of these

Flights & and B are scheduled from an airport
within the nest one hour All the booked
passengers of the two fights are waiting in the
hoarding tall after check-in. The hall has a
seating capacity of 200 ot of which 10%
rernained vacant 40% of the within passengers
are ladies. When boarding armmounicerents
catne. Passengers of flights' A 1eft the hall and
hoarded the fight Seating capacity of each
flight iz two-third of the passengers who
waited it the waiting hall for baoth the flights
put together. Half the passengers who boarded
flight & are wamen. Afler boarding for flight
B, thete i one aithostess in flight A then,
what iz the ratio of empty seatz in fight B to
tnber of sirhostesses in fight A7

10:1

31

201

11

a0 e

DIRECTIONS for equation 18 to 21: Answer these
guestions based onthe mformation given belowr,
A& country basthe following types of traffic sigrals.

Jredlights = stop,

2redlights =turnleft;

| redlight =tum nght,

Jgreenlights = go at 100 kemph speed,
2 green lights = go at 40 lomph speed,
| greenlight = goat 20 kanph speed.

A& motorist starts at a point on a road and follows all
traffic signals= literally. His car is beading towards the
north. He encounters the following signals (the time
mentioned in each case bhelow iz applicable after
crossing the previous signal),

15.

Starting Point — 1 green light;

After half an hour, 1% signal -2 red & 2 green
lights;

After 15 mimates, 22 sgnal -1 red light;

After halfan hour, T signal —1 red & 3 green
lights;

After 24 minutes, 4™ signal —2 red & 2 green
light

After 15 mimates, 5 signal -3 red lights;

The total distance traveled by the motorist
from the starting point 1l the last signal is;

a. Blian.

b, 100km

o 120km

d. none of these
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19, What iz the position (radial distance) of the

tnotorist when he reaches thelast signal;

a. 45k directly notth of Startting Point.

b, 30 km directly to the east of the Starting
Point.

c. 50 km away to the northeast of the
Starting Point.

d 45 km away to the northwest of the
Starting Point,

0. After the starting point if the 1™ sgnal were 1

redand 2 green lights, what would be the final
position of the motorist:
a. 30 ktnto thewestand 20 lan to the south.
b 30 ket to the west and 40 lan to the notth
c. 50 lnto the east and 40 ko to the north
d. Directly 30 ki to the sast

2L If at the statting point, the car was heading
towatds  south, what would be the firal
postion motorist:

a. 30 kmnto the east and 40 lom to the south.
h. 50 knto the east and 40 lom to the south.
c. 30 lanto the west and 40 lan to the south.
d. 50 lanto the west and 20 lan to thenotth,

DIRECTIONS for questions 22 to 27: Answer these
questions based on the tables given below.

There ate 6 refineries, 7 depots and 9 districts The
refineries are BB, BC, BD, BE, BF and BG. The
depotz are AR, AC, AD, AF, AF and AG, The districts
re AAn AAR AAC AAD, AAF AAF AAG AAH,
and AAL Table & gives the cost of transporting one
it from refinery to depot. Table B gives the cost of
transporting one unt from depot to a district

Tahle- A

BB B(C ED BE BF Bz
Al Q2R 2 JETE | MTE | JERR SE0 0 &00.1
AB 311.1 MaT | BEST | TA90 Ti9 9 T3 9
AC | 4511 |0 3201 |Fa0.l pr20.7 | 10001
AD 3711 1501 | 3500 ) Faod a4 | 9201
AE 11373 | 3145 |0 LIS7F | 11577 | 10254
AF al7.1 MNai 7S | 10659 | 10659 | 406 .5
AG fdd 3 293 VAT 2110931 | 10931 | ad3 .9

Al AB AC AD AF AF AG
AAA [ 5827 | B4532 (3145 8221 | 0O Ta4E | 55372
AAB | 5327 | 8032 [ 2845 | 705 | 952 B596 | 442
AAC | 5007 | TEDZ [0 45753 | 2057 | H491 | 331.5
AAD [ 2329 | 3821 [ 2852 | 2754 | 5286 | 5253 | &3 2
AAE [ 3451 | 2686 [ 31862 | 1632 | 53559 | 4131 | 22508
AAF [ 4501 | 6443 | 34623 | 3725 | F50.3 | 429 | 3%
AAC (854510 SORT | 2 ) eRsT [ 3ETA | 3485
AAH (2041 | 1498 [ a7 2 | 3804 | 105355 | 5372 | 4561
AAT | A48 255 4535 (1377 ) &7 [ 1122 ] 1415

22, What is the least cost of sending one unit fom
atiy refinery to any distdct?
a. 952
b @
oo 2057
d. 2845

23, What 15 the least cost of sending one unit from
aty refinery to the distict AABRY

a. 0
b, 2845
c. 952

d. none ofthese
4. What 15 the least cost of sending one urit from
refinery BB to ay district?

a. 2845
b 3111
oo 4511

d. Mone ofthese
5. What iz the least of cost of sending one unit
fromrefinery BB to district AAAT

a. 756
b 11373
e 11543
d. none ofthese
26. Howr tnaty posdble ways are there for sending
one unit from aty refinery to any district?
a. 63
h. 42
o 54
d. 378

7. The largest cost of sending one vt fom any
refitiery to any districtis

a 21718
b 21930
c. 20910

d. none of these

DIRECTIONS for question 28 to 31: Answer these
guestions bazed onthe table given below,

The following table gives details regarding the total
gaming of 15 employees and the munber of days they
worked on complex, medium and simple operation in
the month of June 2002, Even though the employees
tave worked on an operation, they would be eligible
for earmings only if they have munimum level of

effic ency.

ata | Farn npy atal Lk
Frop . Fo. | Complo | Bledium | Sipks] Total § Comp b |
2001147 3295 pE6. 53T 1951 3.00
2001142 5153 MALTHSIZ26 ] 333
2001142 171.71 TR lojamnsl) 550
2001150( 10047 HOT 4T59TO5) A.00
2001151 52443 | 15964 T4 9ar
2001156( 2970 2070 | 200
2001152 47231 10073 S8204] 130
2001164 40225 |T3522QR13.6M351.14H 527
ROOL 170f 576,57 ATEST| 2100
2001171 28645 | 6.10 29257] 538
2001172 512,10 J117.44 620 56| 1000
2001173 1303 88 303,89 2550
2001174 101724 01704 26 00
200117 4650 |Tra19 D2375] 200
2001180 11640 J1262.79 37019 5.00

28, The mumber of employees who have eamed
mare than 50 rupees per day in conglex
operations is:

a 4
b 3
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29,

0.

3l

e

d d

The number of emplovees who have eamed
tnore than 600 rupees and have more than 30%
attendatice (there are 25 regular working days
in June 2002, some right be coming on
owettimetoo) is:

o oo
o [ O T

The employes munber of the person who has
gartied the masiroin eamings per day in
tnediutn operation is

a. Z0011%0
b 2001164
c. 2001172
d. 2001179

Among the employess who were engaged in
cotrplex and medium operations, the number
of employess whose average saming per day
in complex operations 1s more than average
garring per day in medium operation iz

o0 o®
f I L PR

DIRECTIONS for questions 32 to 39: Answer these
guestions based onthe table given below.

The following table showes the revenue and expenses in
millions of Furo: (Furopean ocurrency) associated,
FFEPE0L YPF company’s oil and gas activifies in
operations in different parts of the world for the year

1998-2000.
l;. e Teq Total Bpan] Herth  Pergeninalbecte§ oer o]
] Workd Afrin & Lutin |Fast] 8= | Wrid
Midd s
Fust
T Fasarm N L I T I I I
[Logr 33 | 33 [ 2006 nifso1f 4o | 51
W0 EEE |3 [ 1180 KA B T mn

k] i3] 1ar7 Lol IR R 13

Frpare s = L
1563 | 43 323 116 | 131 [204| <5 ]

Imcemm mim Tame =
¥ Cherr (Bsvmnmr L5559 1575 | 7 1 ] LI Er 33

g im0 das 331 T r i W el I
I I B o 153 B BN B

s |43 g0 gog | g fzaf oo | o
B3 | 1 TIT ) B3 B ET L

Li
= ]
fLooey 5 |3 lig 338 e E2E -3
0l 135 | 13¢ 404 1110 DS U] 1

7

EXH

HEZTEECE EERE 7 ENEE L ER R
Toww SsCharme L5031 | 4 172 Jnn oA oM kD
3 HH (2o o 215 3k L3 1oz Jiso o -14
Based on the fable above, wswer then Bllowing
e SHHoms
32, How traty operations (Spain, Morth, Afca

and Whddle East .. of the company
accoutited for less than 5% of the total rewvetue
earned in the year 10957

a 2
b, 3
c. 4

d. none ofthese
How many opemtions (Spain, MNorth Aftica
and IWliddle East ...y of the commpany witnessed

3.

3.

38

39

tnore than 200% revenue from the year 1999
to 20007

a 1
h, 2
c. 3

d. none ofthese

How many operations registered a sustained
yeatly increase in income before taxes and
chatrges frorm 1995 to 20007

a 3
b, 4
c. 5

d. none ofthese

lgnoring the loss making operations of the
cotnpany in 1998, for how meny opetations
was the percentage increase in et mcome
hefore tases and charges higher than the
average from 1998 to 19997

a 0
b1
c. 2

d. ‘none of these

If profitability 12 defined as the ration of net

income after tases and charges o espenses,

which ofthe following staternents i3 true?

a. The Far FEast operations witnessed its
highest profitability in 1993

b, The Morth %ea operations increased its
profitability fom 1995 to 1999,

c. The operations in Argentina witnessed a
decreaze in profitability fom 1998 1o
1993,

d. Both 2and 3 are true,

In the year 2000, which among the following

courtries had the best profitability?

a. Morth Affica and MiddleEast

b Spain
c. Eest ofLatin Ammerica
d. FarEast

If efficiency i= defined as his ratio of reverme
to expenses, which operation was the least

efficient in the year 20007
a. Span

b, Argenting

c. FarFast

d. Mone ofthese

Of the following staternerts which one iz not

true?

a. The operations in 3pain had the best
efficiency in 2000

b, The Far East operations witnessed an
efficiency inprovement from 1999 to
2000.

c. The Moth Sea operations witnessed an
efficiency inprovement from 1998 to
1994,

d. Inthe year 1995, the operations in Fest of
Latin Arnerica were theleast efficient.
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DIRECTIONS for guestions 40 to 42: Answer these
questions based on the table given below,

The table below gives informmation about four different
crops, their different quality categories and the regions
where they are cultivated. Based on the information
given in the table answer the questions below

Type of Crop Crua lity Region

Crop—1 High Fl,FZ R3S R4S
Dleditam R BT RE
Loy F2 RI0.E11

Crop—2 High 5, RE,Rl1Z
Mleditan EF?.R13
Low | 3]

Crop—3 High F2.F6 R7 RS
Dleditam F3.E9 R11
Loy Fl1.F4R

Crop High F3,RI0,R11
Mleditan E1.FZ R4
Lowr RS B9

40. How many regions produce medivm qualities

of Crop —1 o Crop -2 and also produce low

quality of Crop -3 or Crop —47

a. LEm

b, One

e Twao

d. Three

41. Which of the follovang staternents i trae?

a. All mediwn quality Crop-2 producing
regions are also high cquality Crop-3
producing regions

b, Al high quality Crop-1 producing regions
are also  medivm oand  lowo Crop-4
producing regions.

c. There are exactly four Crop-3 producing
regions, which also produce Crop-d bt
tiot Crop-2

d. Botne Crop-3 producing regions produce
Crop-1, hut not Hgh gquality Crop-2.

42 How many low gqualities Crop-1 producing
tegions are _ether high quality Crop-4
producing regions or imedum quality Crop-3
producing regions?

a. One

b Two

c. Three

d. Zero

DIRECTIONS for questions 43 to 44: Answer these
guestions based on the pie charts given below,

Chart 1 shows the distritation by walue of top 6
suppliers of WIFA Textiles in 1995 Chart 2 shows the
distnbution by quantity of top & suppliers of LIFA
Teztiles in 1995, The total wvalueis 5740 million Furo
(European currency). The total cuantity is 1.035
million tunes.

43 The country which las the highest average
price, is
a. UsA
b Switzedand
o Tuskey
d. Tndia
4. The average price is Furofkg for Turkey is
roughly
a. 620
b, 560
e 4.20
d. 4.80
DIRECTIONS for guestions 45 to 50: Answer these
questions based on the chart gven below
The chatt given below indicates the amal sales tax
revenme collections (in crores of rupeesy of seven

states from 1997 to 2001. The walues given at the top
of each bar represents the tofal collections in that yvear

LA i
HTERL R R PEY

Pty
TR LR Y

R ERTY "N

iy, LN I
: ELTAEIE A
: 1 o
BT T _he— - P

S e

L .o 1
H ER
_ —-
ok I T _.__..-fg '—'}‘ I
R e Lo
- o .
LI I . ] o
P (2 -
aF [wira i

(LB 1.8 [t o B byl [ L

45 If for each year, the states are ranked in tetrns
of descending order of sales tax collections,
how tany states don’t change the ranlang
tnore thatn once over the five yeats.

a |
b 5
e 3
d 4
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47,

45,

49,

50,

5l

51

Which of the following states has changed its
relative ranking most number of times when
you ratil the states in tenms of the descending
volume of sales tax collections each yeat?

a. Andhra Pradesh

b, Uttar Pradesh
c. Karnatalsa
d. Tamil Madu

The percentage share of sales taxw revenue of
which state ha sincreased from 1997 to 20017

a.  Tarnid Madu
b. Earnatals
o Gujarat

d. AndhraPradesh

Which pair of successive years shows the
tradmun growth rmte of tax revenue in
Ilaharashtra?

a. 1997 to 1993

b 198Eto 1999

¢ 1999t0 2000

d. 2000to 2001

[dentify the state whose tas revenue increased
ezzactly by the same amount in two successive
pair of yearsy

a. Karnatals

h. West Bengal
c. Uttar Pradesh
d. Tamil Madu

Which state below has been maintaining a
constant ranl ower the years in terms of‘its
contribution to total tax collections?

a. Andhra Pradesh

b, Karnatalza

c. Tamil Madu

d. Tttar Pradesh.

Nwraber of Grestion = 50
DIRECTIONS for questions £1 to 60: answer the
questions independent of sach other

How many smbers greater than 0 and less
than atrillion cat be formed with the digits 0,
T and &

a. 4386
b, 1056
o T8

d. fone of these
If pgr = 1, the walue of the expression

L + 1 1 15 equal

+
l+p+g?t l+g+rt l+r+p?
to
A pHgt+r
p L

prg+r
el

d-. p‘l + p‘l +1!

EXH

55

6.

58,

59,

T8 _ 6™ where nis an integer =0, iz divisible

by

a 13
b 127
o 558

d. none ofthese

In how matry ways is it possible to choose a
white square and a black sgquare on a chess
hoard so that the squares must not lie in the
sarne row or column?

a. 5A
b, B0A
c. Al
d. TAE

If u, w, wand m are natuml nutmbers such that
™+ v = ", then one of the following iz
true.

a. = ranlu, VW

bt andu o, W

C. I rrnnu, W

d. none of these

Only a single rail track exsts bhetween station
A and Boona railway line. One hour after the
notth boutd super fast train N leawves station &
for Station B | a south bound passenger train 3
teaches station A from station B, The' speed
of the super fast trainis twice that of a norrral
empress train B, while the speed of a passenger
train 5 is halfthat of E. Ona patticular day M
leawes for station B from Station &, 20
triites behind the normal schedule. In order
to maintain the schedule both M and 3
increased their speed. I the super fast trmin
doubles itz speed, what should be the ratio
(approzimratelyy of the speed of passenger
train to that of the super fast train so that
passenger train 5 reaches exactly at the
scheduled time at station A on that day.

a. 1.3

b, 1.4
.. L5
d. 16

Instead of walldng along two adjacent sides of
a rectangular field, a boy took a short cut
along the diagonal and saved a distance equal
to half the longer side. Then the ratio of the
shorter sideto the longer sideis:

a. 12
b 213
c. 14
d %

The area of the triangle whose vertices are (a,
a,fa+ l,a+ 1@+, ais

d. 4
b1

Cc. Za
g 2

A train approaches a tunnel AR, Insde the
tunnel iz a cat located at a point that is 38 of
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fill.

the distance AB measwred from the entrance
A, When the train whistles the cat rons. If the
cat rowes to the entrance of the turmel, A, the
train catches the cat exactly at the entrance, IF
the cat moves to the exit, B, the train catches
the cat at exacly the exit. The speed of the
train iz greater than the speed of the cat by
what order?

a a3l

b 41

|

d. none ofthese

miz persons are playinga card game. Suresh is
facitg Raghuhit who iz to the left of Ajay and
to the fight of Pratmod. Ajay is to the left of
Dhitaj. Yogendr is to the left of Pramnod. If
Dhira exchanges his seat with Yogendra and
Pramod exchanges with Raghubir, who will be
sittityg to the left of Dhirm?

a. Yogendra

h. Faghuhir
o suresh

d. Ajay

DIRECTIONS for guestions 61 amd 62: Answer
these questions hased on the infonmation given helow.
Fach ofthe 11 letters & H, LW, O, T, 1T, W, W, Xand
£ appears same when looked at in a mirror, They are
called syrumetric letters. Other letters in the alplabet
are asynunetnc letters,

fil.

B2

How many four-etter computer pazswords can
be formed using only the symumetricletters (o
repetition all owed)?

a. 7920

h. 330

c. 14840

d. 418430

How many tlree-letter congputer paszswords
can be formed (o repetition allowed) with at
least one syrometnc letter?

a. 990

b 2730
c. 12870
d. 15800

DIRECTIONS for guestions 63 to 75:
Arnswer the questions independent of sach other.. .

fi3.

After the division of a numnber successively by
3, 4 and 7, the remmainders obtained are 2, 1
and 4 respectively, What will be the rernainder
1f 84 diwdes the same mambe?

a. &l

b, 78
c. 41
d. 53

a5,

i,

fiE.

fi9.

Three pieces of cakes of weight 4%6% lbs

and Té bz respectively are to be divided into

patts of equal weights Further, each part st
be as heavy as possble If one such part is
serwed to each guest, then what iz the
tradmwn ouwnber of guests that could be
entertained?

a. 4

b 7

c. 20

d. none ofthese

At a bookstore, “WWODERL BOOK STORE”
15 flashed using neoft lights. The words are

individually flashed at intetwal s of 2%,4&,5%

seconds respectively andeach word is put off

after a second. The least time after wiich the

fill nameof the hookstore can be read again

1%

a. 485 seconds

b 735 seconds

o 17445 seconds

d. 853 seconds

The mumber of real rootz of the egquation
I

i+i1=1 where & and B oare real
rox-

mnbers not equal to zero sirmiltaneously is

a. Mone

b1
c. 2
d la?

When 2% iz divided by 17 the remainder
winld be

a 1
b, 16
c. 14

d. none of these

10 straight lines, o two of which are patallel
and no three of which pass fhrough any
cotrtnon point, are draswn on a plane. The total
munber of regions (including  fimte and
infinite regions) into which the plane would be
divrided by the linesis

a. 56

b, 255

e 1024

d. notunigque

suppose, for any real number %, [Z] denotes
the greatest integer less than or equal to . Let
Lz, y) =[] + [y] + [z + ¥] and R(x, y) = [1x]
+ [2y]. Then it’s imposable to find any o
positive real mumbers and ¥ for which

a. Lz y) =Rz v

b Lz, y) = Rz, 3)

. Lz, y) <Rz ¥

d. Lz y) >Rz 7
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7l

T4

73

4

A chuld waz asked to add first few natural
tnbers (that 15, 1 + 2+ 3 .0 20 long his
patience pertnitted. Az he stopped, he gawe the
sum ag 575 When the teacher declared the
result wrong the child discovered he had
trizsed one number in the sequence during
addition. The number he missed was:

a. lessthan 10
b, 10
. 15
d. morethan 15

A car rental agency has the followang terms. IF
a car iz rented for 5 hours or less the charge is
60 pet hour or B 12 per ldlometer whichewer
iz mote. On the other hand, if the cat 2 retted
for more than 5 hours, the charge iz s 50 per
hor or E.s7.50 per Kilotmeter which ever is
tnore. Aldl rented a car fom this agency,
drove it for 30 kilometers and ended up paving
F2300. For how tnany hours did he rent the
Car?

a 4
b, 3
c. A

d. none ofthese
Aol was asked to caloulate the arthinetic
tneat often podtiveintegers each of which had
two digits By mistakee, he interchanged the
two digits, say a and b, in one of these ten
integers. As a result, his answer for dhe
arithtmetic means was 1.8 more than what it
should have been. Thenb —a equals
a 1
b, 2
c. 3
d. none ofthese
If s+ 5% + 28 = 2% B+ =) thefl wihich of the
following statements arenecessarily true?
. E=1y

E=4T

=7

Ol &

Only B and C

Orly &and B
id. none ofthese
Let & denote the infinite sum 2 + 5 + 02 +
142 + 202" + .., where [z < 1 and the

coefficient of 24! is %n[n+ 3.n=1,2,..

P =~ s B

Then 5 equals
i-x
(1-x7

b 2—:1{3
[1+x:|
2+

.

75

2+x
(1+ xf
chyarn wisited Fam on wacation. In the
mornings, they both would go for yoga In the
evenings they woild play tennis. To have
moare fun, they indulge only in one actively per
day, 1.e, either they went for yoga or played
tenms each day. There were days when they
were lazy and stayed home all day long, There
were 24 mornings when they did nothing, 14
evenings when they stayed at home, and a total
of 22 days when they did yoga or played
tenri s, For how moany days Shyatn stayed with
Fam?

a 32
b, 24
c. 30

d. none of theze

DIRECTTONS for guestions 76 amd 77 Aswer these
questions based on the ingbrmation ghaen below.

A bhoy 15 asked to put in a basket one mango when
ordered “One’, one orange when ordered “Two™, one
apple whett ordered “Three” and is asked to take out
from the tasket one mango and an orange when
ordered ‘Four”. A sequence of orders is given as:

7.

123321423142023314113234

Howr roany total oranges were in the badlet at
the end of the abowe sequence?

a 1
b, 4
. 3
d 2

Howr many total fuits will bein the basket at
the end of the abowe order sequence?

0

E

11

10

o0 o®

DIRECTITONS for guesiions 78 o ®6: Answer the
guastions independent afeach othar.. .

TE.

A rich merchant bad collected mary gold
coins. He did not want aryhody to know abowt
them One day, his wife asked, “How many
gold coins do we hawe?™ Afler pausing a
moment, he replied, “Welll If [ diwvide the
coins into two unequal numbers, then 48 times
the difference between the two mumhers equals
the difference between the squares of the two
munhers”™ The wife looked puzzled. Can you
help the merchant’s wafe by finding out how
many coins the merchant tas?

a 9
b, 53
c. 43

d. none of these
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al.

gl

8.

3.

5.

On a straight road XY, 100 metres long, five
heawy stones are placed two metres apart
beginning at the end X A worker, starting at
¥, tas to transport all the stones to ¥, by
cartying oy one stone at a time. The
trinitrn distance he has to travel (in metres)
is

a. 471

b 421

oo 744

d. a44

Four horses are tethered at four corners of a
squate plot of sde 14 metres () so that the
adjacent horses cat reach oneanother. Thereis
a strall circular pond of ares 20 m at the
ceritre. Thearea left unglazedis

2. 22’

b 42m?

. B4m’

d. 163m’

If 3 =log{(l+zf1:0), then 22 + fy)is

a fiz+w

b (G (1 + )

e G+ PE( KL+ )

0. f(3)+ LAl + )

The length ofthe commmon chord of twa circles
of tadii 15 cm and 20 om, whose cetters are
25 cmapart, 180 cmy

a 24

h. 25

o 15

d 20

In a trangle ABC, the intemal bizector of the
angle A meetz: BC at D [fAR =4, AT =3 and
L8 =60 then length of AD 15

a. 2\-@

b 12377
o 154378
d. 6377

If there arer 10 postive real  nurrbers
< feeonz . <nm. How many triplets of
these tuanbers g ti, ), (fe, s, ), ... catl
he generated such that in each that in each
triplet the first nurmber is always less than the
second munber, and the second munber is
always less than the third rurber?

a. 43

b B0

c. 120

d. 130

3 amall pumnps and a large pump are filling a
tanlz Each of the three strall pumps wotlkes at
2/3rd the rate of the large pump. Ifall 4 purnps
wotls at the sarne time, they shodd fill the tank
inn what faction of the time that it would have
taken the large purnp alone?

a. 457

b 13

il

Ba.

9.

e 23

d ¥

Dravii Shop sells sarnosas in bozes of different
szes. The samosas are priced at Rs2 per
samosa up to 200 sarnesas. For  ewery
additional 20, samosas, the price of the whole
lot goes down by 10 paise per samosa. What
should be the masitun size of the box that
wiold rresirnize the revere?

a. 240

b, 300

o 400

d. none ofthese

It talzes 6 technicians a total of 10 hours to
bidld a new server from Direct Commputer, wath
gach wotking at the same rEte IF sz
techricians statt to build the server at 11.00
AN and one technician per hour iz added
hegitning at 500 PRI, at what time will the
serwer be complete?

a.  G4lpm

h. F:00pmn

o Adlpm

d. | Bpm

# o ' E

In the above figure, ACE is a right angled
thangle. CD iz the altitude Circles ate
inscribed within the triangle ACD, BCD. P
and ) are the centers of the drcles. The
distance PO s

a. 5

b 50

c. 7

d &

Three travelers are sitting around a fire, and
are about to eat a meal. One of them has five
gnall loawes of bread, the second has three
gnall loawves of bread The third has no food,
bt hias eight coins. He offers to pay for some
bread. They agree to share the eight loaves
equally among the three trmwvelers, and the
third traveler will pay elght coins for kis share
of the eight loaves. All loaves were the same
sze. The second traveler (who had tfhree
loawes) suggests that he be paid three coins
and that the first traveler be paid five coins.
The fir traveler says that he should get more
than five coins Flow much the first traveler
should get?

a 5

b 7

ool

d. none of these
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a0, A piece of string 1z 40 centimeters long, It is
cut into three pieces. The longest plece is 3
titnes az long as the riddle-sized piece and the
shortest piece 15 23 centimeters shorter than
the longest piece. Find the length of the
shortest piece.

T

5

4

g

a0 oW

DIRECTIONS for guesfions 91 to 92: Avswer these
questions based on the pllowing dicgram M the
dicigreen below:

LARC = 00"= ACH = ADOE = A/FHE = AFEL =

ZGLM = AL
AB =BT =1CH =2CD =EH =FK =ZHEK =4KEL =
AL =D
E F %
n i
0
H € H HL M

91 The magitude of ZF GO =
a. 30°
h. 45°
c. al®
d. none ofthese
92, The ratio of the areas of the two quadrangles
ABCD and DEFG 12

a 1:2
b, 2:1
c. 12:7

d. none ofthese

DIRECTIONS for guesiions 93 ip 108: Anzwer the
questions independent ofeach cther.. .

I Ilayanle, Dlirza, Little and Jaspal bought a
motorbile for $60.00. IWayank paid one half of
the sum of the amounts paid by the other hoys,
IMirza paid ofie thitd of the sum of the atmounts
paid by the other boysz, and Little paid one
fourth of the sumn of the amounts paid by the
other boys. How ruch did Jaszpal have to pay?

a 15
b, 13
c. 17

id. tone ofthese

0, The owner of a local jewellery store hired 3
watchmen to guard his damonds, but a thief
gtill got i and stole some diamonds. On the
way out, the thief met each watchtran, one ata
titne. To each he gave 1/2 of the diamonds he
had then, and ? more besdes. He escaped wath

m5.

DA,

HE.

og.

one  diamond  How many did he steal
o ginallyy

a. 40

b, 36

oo 25

d. none of these

Meetaj has agreed to mow the front lawm,
which 15 a 20m by 40m rectangle. The mower
tnows a 1 mowide Strip. If Meeraj statts at one
cotner and mows armind the lawn toward the
center, about how many times would he go
round before he ba s mowed halfthe law?

a. 15

h. 35

c. 3.8

d 4.0

Ifx, vand = are real nurnbers such that: =+ v
+z=75and xy + v+ == 3, what iz the
largest walue that = can hawve?

a. a3

b V19

oo L3753

d. tione ofthese

The t eletment of a sefies is represented as

¥ =(=1F X1

If 2, = x and = > [ then the following is
always tue

a. Hnispostiveifnis even

h. g ispoativeifnis odd

C. Fpisnegativeifnis even

d. Mone ofthese

Mumber 5 iz obtained by squaring the sum of
digitz of a two digit number D) IF difference
between = and D iz 27, then the two digt
munber D i1g

a 24

b 34

o 34

d 45

Cna 20 ko tunnel connecting two cities A and
B there are three gutters. The distance between
qutter 1 and 2 iz half the distance between
qutter 2 and 3. The distance fom oty A toits
nearest guiter, gutter 1 iz equal to the distance
of city B from gutter 3. Ona particuar day the
hospital in city & receiwes infonmation that an
accident has happened at the third gutter. The
vicim can be saved orly if an opemtion is
gtarted wathin 40 mimites An ambulance
started from city A at 30 lonthr and crossed the
first gutter after 5 minutes. If the driver had
doubled the speed afler that, what is the
ez amount of time the doctor would
get to attend the patient at the hospital?
Assume 1 minute is elapsed for taking the
patient into and out of the ambulance.

a. 4 minutes

b, 25 mimites

c. 1.5 mirmstes
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0
d. Patient died before reaching the hospital
100, In the figure giver below, ABCD iz a
rectangle. The area of the isosceles right
tnangle ABE = Tom?®, FCy=3BE) Thearea
of ABCD (in o) is:
A

N\

\

E C
21

28
4
56

Nunber of Dvestion = 50

Directions Questions 101-105:

For each of the words below a context is provided.
From the alternatives given pick the word or phrase
that 1z closest in meaning in the given contesxt.

=0T e

101, Oppobriom: The police officer appears
ohlivious to the opprobrivm generated by his
hlatanfly partizan conduct.

a. Harsh oriticiam

b, Acute distnst

c. Bitter enmity

d.  Stark oppressiveness

102, Portend: It appears too many that the US “war
o terroriam” portends trouble in the Gulf
a. Introduces

b. Ewokes
c. oGpells
d. Bodes

103, Prevaricate: When a videotape of her meeting
was played back to het and she was asked to
emplain  her presence there, she started
prevaricating,

a. Speaking evasively
b, Spealangviolently

c.  Laing furiously

d. Throwing a tantnam

104, Restiver Thecrowd became restive when the
trindster failed to appear even by 10 prn

a. Wiolent
b, Angry
c. Festless
d. Distressed
105, Ostensble Manohat’s ostensible job was to
guatd the building at right.
a. Apparent
b, Blatant
o Ostentations
d. Insidious

Directions: Questions 106-109: In each of the
mquestions below, for different ways of waiting a

sentence are indicated. Choose the best way of writing
the sentence.

104.

A The rain problemn with the notion of price
dizcrimmination is that it is not always a bad
thing, but that it 15 the monopolist who has
the power to decide who is charged what
price.

B. The rmain problemn with the notion of price
dizcrimmination iz not that it is alway s a bad
thing, it iz the monopolist who has the
power to decide who iz charged what
price.

. The train problem with the notion of price
dizcrimnination iz fiot thatit iz alwaysa bad
thing, tut that it is the monopolist who has
the power to decide who is charged what
price.

D The main problemn with the notion of price
discritniration 48 not it 12 always a bad
thing, but that it 15 the monopolist whao has
the power to decide who is charged what
price.

4
B
C
D

2 o

107,

=

& symhiotic relationship dewelops among
the contractors, bureaucracy and the
politicians and by a large mumher of
dewices costs are artificially escalated and
black money is generated by undethand
deals.

B. A symhiotic relationship develops among
contractors, bureaucracy and politicians,
and costs are artificially escalated wath a
large mumber of dewices and black money
15 generated through underhand deals,

. A symhbiotic relationship develops among
contractors, bureaucracy and  the
politicians and by a large number of
devices costs are artificially escalated and
black money iz generated on underhand
deals.

D A symbiotic relationship develops among

the  contractors,  bureaucracy  and

politicians, and by large number of desices
costs are artificially escalated and black
tnoney is generated by underhand deals,

A

B

C

b

o oo

103,

=

The distinctive feature of taniffs and export
subsidies is that they create difference of
prices at which goods are traded on the
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wiotld market and their price within alocal
tmarket.

B. The distinctive feature of tari ffz and export
subsidies is that they create a difference of
prices at which goods are traded with the
world trarket and their prices in the local
triatloet.

. The distinctive feature of tari ffs and export
subsidies iz that they create a difference
between prices at which goods are traded
ot the world market and their prices
within a local matket.

D The distinctive feature of tari ffz and export

subsidies iz that they create a difference

actoss prices at which goods are traded
with the wotdd tratket and their prices
within a lacal matlzet.

KA

B

C

D

o0 oW

109,

=

Any action of goverument to reduce the

systemic nsk inherent in firandal markets

will also reduce the tisle that private
operators perceive and thereby encourage
excesave hedging.

B. Any action by govemment to reduce the
systemic nsk inherent in firandal markets
will also reduce the nsks that private
operators perceive and thereby encourage
exCEzave gambling,

. Any action by govemment to reduce the
syatemic nsk inherent due to firancial
marleets will also reduce the risks that
private opemtors perceive and  thereby
Encourages excessive hedging:

[ Any action of govemunent toreduce the

syatemic nsk inherent in firandal markets

will also reduce the nzl= that private
operators perceive and thereby encourages

EXCE A VE gambling

A

B

C

D

e

Directions (Questions 110-115): Fill the gaps in the
passages below with the most appropriate word from
the options given for each gap. The right words are the
ones used by the avthor Be guided by the author’s
overall style and meaning when vyou chooze the
ANTWELS.

Von Muetmann and Morgenstern assume a decision
framework in which all options are thoroughly
considered, sach option being independent of the
others, with a numerical walue derived for the utility of
gach possible outcome (these ot cornes reflecting, in

turn, all possble combinations of choces). The
decision iz then made to masinze the expected utility,
e UM, such 2 model  reflects  major
stmplifications of the way decisions are made in the
real world. Humansate not able to process information
as quickdy and effectively as the model assumes; they
tend not to thinle (1110 .. as easily as the model
calls for, they often deal wath a particular option
waithout really assessing itz (1120 ..., and when
they do assess alternatives, they may be extremely
nietnlons about their criteria of evaluation.

11a.

Eegrettably
Firatly
Chiously
Apparently

oo o w

111.

Cuantitatisely
bysternatically
Solentifically
Analytically

o0 o

113,

Implications
Dizadvantages
Utility
Altermatives

a0 e

In a large company ....0113). .. people is about as
Cofrnon as usng a gun or a switchblade too
(114%.... an argument. Az a result, most managers have
little or no experience of finng people, and they find it
emotionally travmatic, az a result, they offen delay the
act interminably, much az an unhappy spouse wall
prolong a bad marnage. And when the fining iz done,
itz often done cumaly, with far worse side effects
than are necessary. Do the world-class software
organizations have a differert way of firing people?
Mo, tut they do the deed swifily, humanely, and
professionally.

The ley point here 15 to wiew the fired emplovee az a
‘failed product’ and to asl how the process | (1130
sucha phenotmenon in the first place.

113,

Driarnd ssing
Punishing
Firing
Admonishing

o0 o®

114.

Fesolve
Thweart
Defeat
Close

o oo

115
a. Drerived
b, Engneered
c. Produced
d.  Allowed
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Directions {Questions 116-120%: The sentences gven
inn each gquestion, when properly sequenced, form a
coherent paragraph. Each sentence 15 labeled with a
lefter, Choose the tmost logical order of sentences from
arnong the given choices to construct a coherend

paragraph.

114

A Branded disposable diapers are avalable
at rraty superrratiets and dnug stores.

B. If one supertrarlet sets abigher price fora
diaper, customers tmay buy that bhrand
el sevwhete,

. By contrast, the derrand for privatelabel
products tay be fewer prices sensitive
siice it iz awailable oy at a
cottesponding supertratlet chain

D 5o, the derrand for branded diapers at aty
particular  store Ay be guite  price
sendtive,

E. Forinstance, only SavOn Drug stores sell
savOn Drugs diapers.

F. Then, stores showd =et a  higher
incremental margin percentage for private-
lahel diapers.

ABCLDEF
ABCEDF
ADBCEF
AEDBCF

20 o

117

Hawving a strategy is a matter of discipline,

It imwolves the configuration of a tailored

wvalue chain that enables a company to

offer wigque walue,

It requires a strong focus on profitability

and a willingness to malke tough trade offs

in choosing what not to da.

L. Stmtegy goes far beyvond the purauit of
best practices.

F. & company mugt stay the course even
during times of upheaval while constantly
improving. and  extending its distinctive
positioning

F. Whena company s activities fit together

as  a self reinforcing  systern,  any

cotrpetitor wiching to imitate a strategy
st replicate the whole systermn

ABCDEF

ACFDBF

ADBCEF

AEDBCE

= e

o

2o oW

115,

=

Az officials their wison of a country
shouldn’™t nan too fr beyond that of the
local people with whom they have to deal.
Arnbassadors have to chooze thewr words,
To say what they feel they have to say,
they appear to be detrring or ignoring part
of what tlty lmow.

g

119,

120,

a0 oW

=

o0 o

=

a.
h.

ey

Ho, with ambassadors as  with =g
expatriates in tlack Aftica, there appears
at a first meeting a kind of arnbivalence,
They do a spedalized job and it is
tiecessary  for them to live ceremmordal
liwes,

BCEDA

BEDAC

BEADC

BCDEA

“Thiz face off will continie for seweral
tnonths gwven the strong conwictions on
either side” says a sendor functionaty of
the high-powered task force on drought.
Dring the past weel-and-half, the Central
Gowvertnent has sought to deny some of
the eatlier apprehensons over the itnpact
of drought.

The recent rewival of the rains had led to
the emergence of a line of divide between
the twio.

The state govemments, on the other hand,
allege that the Centre iz dovmplaying the
crisiz only to evade itz full responability
of financial assistance that iz required to
allesiate the datrage.

shnll alarm about the economic impact of
an iradequate monszoon had been sounded
by the Centre as well as most ofthe states,
inlate July and eady August.

EBCDA

DBACE

BDCAE

ECBDA

Thizs fact was established in the 1730s by
French survey expeditions to Equador near
the Equator and Lapland in the Arctic,
which found that around the midde of the
carth the are was about a ldlometer
shorter

One of the unsettled sdentific questions in
the late 18% centwy was the exact nature
of the shape of the earth

Thelength of one-degres are would be less
near the equatorial latitudes than at the
poles.

One way of doing that is to detenmine the
length of the are along a chozen longitade
or  tendian  at  one-degres  latitode
sepatations.

While it was genermlly known that he earth
as not a sphere it an “oblate spherod’,
more cuved at the equator and flatter at
the poles, the question of ‘how mmuch
tmore” way vet to be establizhed.

BECAD

BEDCA
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c. EDACHE
d. EBDCA

Directions (Questions 121-128) For the word given
at the top of each table, match the dictionary
defindtions on the (A, B, C, I with their
comresponding usage on the (1, 2, 3, 4% Ot of the four
posahilities given the below, select the one that has all
the defirdtionzand their usages most clozely rmatched.

121, Measure

Dictionary definition

A Bize of quantity found by measuring

B. Veszel of standard capacity

. Suitable action

D Asecertain extent or quattity

Usage

1. A measwe was instibied to prevent
outsiders from entering the campus.

2. theila wag asked to measure each item

that vz delivered.

3. The measure of the criclet pitch was 22
vards.

4. Eamesh used a measure to tale out one
liter of nil

& B C o

a. 2 4 3 1

h. 1 3 4 2

. 1 4 2 3

i. 2 3 1 4

122, Bound
Dictionary definition

A, ohliged, constrained

B. Lirmiting walue

. Wloveina specified direction

L. Destined or cettain to be

Usage

1. Dinesh felt bound to ik out when the
discussion turted to kickbacks

2. Buffeted by contmdetory forces he was
bound to losehiz mind.

3. Widya's slore story straing the bounds of
credulity.

4. Bound for. a career in law, Jyohi was
reluctant to study NWilton

&

oo
[P R I N u
— b I L T

D
1
2
3
4

B — — b

d.
123, Catch

Dictionary definition

A Capture

B. Grasp with senses or mind

2. Deception

[ Thing or person worth trapping

Usage

1. Al her fiends agreed that Prasad was a

good catch

2. The proposal sounds wery good but where

1z the catch?
3. Hussein thes to catch the spint of India in
this painting

4. Sony, [ coldn™ catch you
A B C D

a. 4 2 | 3

h. 2 3 | 4

C. 3 2 | 4

d. 3 4 2 1

124 Deal

Dic tionary definition

A Manage attend to

B. Stock, zell

. Giveout to a munber of people

[ Be concerned with

Usage

1. Dinesh insisted on dealing the cards

2. Thiz contract deals with handrrade cards.

3. Wiy brother deals incards.

4. Tdecded not todeal with handmade cards.
A B C D

a 4 | 2 3

h. 3 2 | 4

£, 3 | 2 4

d. 3 2 4 1

1280, T

Dic tionary definition

A Give new direction to

B. Zend

. Changein form

[ Opportunity coming successively for each
person

Usage

1. Ttwasnowhis tumto beangry

2. Leenanever turned away a beggar,

3. Ashish asked Lasman to tum his Face to

the left,
4. The old schoal tulding has been turned a
TsET
A B C D
a 4 2 | 3
h 2 3 | 4
C 3 2 | 4
d 3 4 2 1

Directions (Questons 126-150): Each of the five
passages is given below is followed by questions.
Choose the best answer for each question.

PASSAGE1]
Cellz are the Wtimate multitaskers: they can switch on
genes and cany out their orders, talk to each other,
divide in two and rmuch more, 2l at the same time, Bt
they couldn™t do any of these tricks without a power
source to generate movernent. The inside of cell
tustles wath more traffic than Delkd roads, and, like all
welicles, the cell’s meowing parts need engnes.
Phyysicists and biologists have looked “under the hood’
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of the cell and laid Ot the nuts and bolts of molecular
EfLginES,

The atility of such engines to conwvert
cherrical energy into motion iz the envy of the
nanotectnology researchers looking for ways to power
molecule-sized desices. Medical researchers also want
to understand how these engines worke Because these
molecules are essential for cell division, scientists
hope to shut down the mrpant growth of the cancer
cells by deactiwating certain motors. Inproving motor-
driven transport in nerve cells may also be helpfal for
treating dissases such as Aizheimner’s, Patkinson’s or
ALSG, also knownas Lou Gehng's disease

We wouldn't tnalee it far in life without motor
proteins. Our remscles wouldn't cottract. We couldn't
grow, because the growth process requires cells to
duplicate their machinety and pull the copies apatt.
And our genes would be silent without t5e setices of
tessenger BMA, which catries genetic instnictions
over to the cell’s protein-raling factonies The
movetnents that make these cellular activities possible
ocour along a complex netwotks of threadlike fibers, or
polymmers, along which bundles of molecules trawvel
like ifatns. The engines that power the cell’s freight are
three frnilies of proteins, called myosin, lnesin and
dynein. For fiuel, these proteins burn molecules, of
ATP, which cells make when they breal dowm the
cathohydrates and fats from the foods we eat. The
energy from burning ATP causes changes in the
proteins’ shape that allow them to heave themselves
along the polymer track. The re suits are ingpressive. In
one second, these molecules can travel between 500and
100 timmes their own diameter if a car with 5-foot-wade
engine were as efficient, it would travel 170 to 340

lornh,

Fonald Wale, a researcher at the Howard
Hughes Nledical Instihge and the Tliversity of
Califorma at San Francizco, and Ronald Whilligan of
the Scripps Research institute have realized a long-
awaited goal by reconstructing the process by which
myoan and knesin mowe, almost down to the atom.
The dynein motar, oo the other hand, iz still poorly
understood. DWyosn molecules, best known for their
role in rmacle consttiction, fonm chains that lie
between filaments of ancther protein called action.
Fach myosin maecule has a tiny head that poles ot
from the chain like oars from a canoe. Just as rowers
propel their boat by stroling their oars through the
water, the myosin molecules stick their aars through
the water, the myosn molecules stick their heads into
the actin and hoist themselves forward along the
filament. While fyosin mmoves along it short strokies,
its cousin Kinesin walks steadily along a different type
of filament called a microtubule, nstead of waing a
projecting head az a lever, kinedn walks on two ‘legs’,
Based on these differences, researches used to think
that ryosin and
lanesin were wittually wrelated. Bat newdy discowered
sitndlarities in the motors™ ATP-processing machinery

P E T

now suggest that they share a cormon ancestor-
molecule, At this point, scientists can only speculate as
to what type of pomitive cell-like struchure this
ancestor occupied as it leamed to bum ATF and use
the energy to change shape “We'll never really know,
because we can't dig up the remains of ancient
proteins, but that was probably a big evolutionary
leap,” says Wale.

Onoa slightly larger scale, loner like spetm or
infections bacteria are prune movers that resolutely
push their way through to other cells. A5 L WMahadevan
and Paul Matsudaria of the Massachusetts Institute of
Techtiology explain, the engines in this caze are
springs or ratchets that are dusters of molecules, rather
thatt single protein  like  myosin  and  kinesin
Fesearchers don't yet flly understand these engines’
fiaeling process o the details of how they move, bt
the result is a force to be reckoned with. For example,
otie such engine is a Gpring like stall commecting a
gngle-celled organism called & worticellid to the leaf
fragment it calls home When exposed to caldum, the
spring confracts, wanking the worticellid dowm at
gpeeds approaching 3 inches (8 certimeters) per
secotd.

aprings ke this are coiled bondles of
filaments that expand or contract in response to
chetmcal cues. A wawve of posttively charged caloum
1ons, for exzample, neutralizes the negative charges that
leep the filaments extended. Some spenm use spring
lile engines made of act in flaments to shoot ot a
barb that penetrates the layers that surround an egg,
And certain vinises use a similar apparatus to shoot
their DA into the host’s cell, Batchets are also usefid
for moving whole cellz, including some other sperms
and pathogens, Theze engines are filaments that sinmply
grow at one end, attracting chemical building blocks
from nearby. Because the other end iz anchored in
place, the growing end pushes against any barner that
gets inits way.

Both springs and ratchets are made up of small
umnits that each mowve just slightly, but collectively
produce a powerful moverment, TMtmately lahadevan
and Matsudaira hope to better understand just how
these particles create an effect that seems to be so
mmach more than the sum of its parts. Might such an
understanding provide inspiration for ways to power
artificial rann-szed dewices in the fiture? “The short
answer iz absolutely,” says Mahadevan, “Biology has
tad a lot more time to evolve enonmous richness in
design for different organisms. Hopefully, studying
these  structhares will not  ondy  improwe  our
understanding of the bWological woidd, it will also
eniable u to copy themn, take apart their components and
recreate them for other purposes”™

126, According to the author, research on the power
source of movernent In cells can contnbute to
a. Control ower the mowement of genes
within hurran systerns.
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123,

129,

130.

. Theunderstanding of nanotechnology,

o Arrestingthe growth of cancer in a hutnan
being,

d. The development of cuwres for a vanety of
dizeases.

The anther has used several analogies to

illustrate his arguments in the article. Which of

the following pairs of words are emamples of

the analogies used?

Cell activity and vehicular traffic.

FPolytners and tram tracks,

Genes and canoes

Worticellids and ratchets,

A and B

BandC

e AandD

d AandC

Eead the five statetnents below &4, B, C, D

and E. From the options given, select the one

which includes a statemnert that iz NOT

represertative of an arqument presented in the

passage.

A Bperms use spring like engines made of

act in filatment.

Ilyoan and lanesin are unrelated.

Manatechnology researchers looks for ways

to power molecule-sized devices

=R oaEE

SRR

L. Ilctor proteins help muscle contraction.

E. The dynein motor iz sl poordy
understoad.

a

h.

.. A DandE

d A CandD

Eead the four statements below a, b, ¢ and d.

From the options given, select the one which

includes oy statementss)  that  are

representative of argumernts preseried in the

passage.

A, Protein motorshelp growth proceszes

B. Improved transport in nerve cells will help
arrest tubercul osizand cancer

. Cells, together, genemate more than the
surn - of power  generated by them
separately,

D Vorticellid and the leaf fragment are
connected by a calcwn engine,

a  AandB butnot C.

b A and C hutnot D

c. AandDiitnatB.

d CandD butnotB.

Eead the four statemments below &, B, C, and

D fom the options given selects the one

which  indude  statements’s)  tlat  are

represertative of arguments presented in the

passage.

A Myodn, lnesin and act in are three types
of proteins

B. Growth processes inwolve a rouline in a
cell that duplicates their machinery and
pulls the copies apatt.

2. Myosin molecules can generate vibrations

in rmscles

Fonald and MWahadevan are researchers at

Ilaszsachusetts Institute of Technology.

& and B bt not Cand D

B and C but not &

Band D bt not & and ©

& B oand C bt rot D

=

a0 oW

PASSAGE 2

The conceptions of life and the world which we call
‘philosophical’ are a productoof two factors one,
inherited, religious and ethical conceptions, the other,
the sort of investigation which may be called
fsientific’, using this word ino itz broadest sense
Individual philosophers havre dffered widely in regand
to the proporfions in which these two factors entered
into their systerns, but it iz the presence of both, in
sorne degree, that charactenzes philosophy.

Philosoplyy’ iz a word wiich has been usedin
trany awEys, somie wider, sotne narrower. [ propose to
uze it i a very wide sense, which [ will now trv to

exzplain,

Fhilosophy, as [ shall understand the word, is
sornething intermediate between theology and science.
Like thedlogy, it consists of speculations on matters as
to which definite lmowledzge has, so far, heen
unascertairable;, but like sdence, it appeals to laman
teasont rather than to authority, whether That of
tradition or that of revelation, All definite knowledge
— 20 [ should contend belongs to sdence; all dogma
as to what surpasses definite knowledge belongs to
theology. But between theology and soence there iz
o man’s Land” ex posed to attack from both sides,
thiz “Mo Wlan's band’ iz philosophy. Almost all the
questions of most interest to speculative minds are
auch as science cannot answer, and the confident
answers of thealogians no longer seetn 20 conwincing
as they did in former centuries. Is the world divided
mto rmind and matter, and if so, what iz mind and what
18 matter? Is mind subject to matter, oris it possessed
of independent powers? Has the universe any unity or
purpose? Is it evolving towards some goal? Are there
really lawe of nature, or do we believe in them only
because of our innate lowe of arder? [z man what he
seems to the astronomer, a tiny lump of carbon and
water impotently crawling on a amall and unimportant
planet? Cr iz he what he appears to Hamlet? Iz he
perhaps both at once? Iz there a way of living that i=
noble and another that iz baze, or is all ways of living
merely futile? If there 15 a way of living that iz noble,
i1 what does it consist, and how shall we achiesre it?
Ilust the good be etemal in order to deserve to be
walued, or is it worth seeldng even if the umverse iz
mezorably moving towards death? Is there such a
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thing as wisdom or iz what seerns such merely the
utimnate refinement of folly? To such questions no
answer can be found in the laboratory, Theologies
tave professed to give answers, all to definite;
their defirgteness canses modern minds to view them
with suspicion. The studying of these questions, if not
the answering of thern, iz the business of philosophsy.

Wy, then, you tray ask, waste time on such
insoluble problems? To this one ey answer as a
historian, or as an individual facing the terror of
costric loneliness,

The atgwer of the historian, in so far as [am
capable of giving it, will appear in the course of this
wotl Ewver since tmen becatne capable of fiee
speculation, their actions in innamerable itrportart
tespects, have depended upon their theoties as to the
witld and humnan life;, as to what iz good and what is
evil. Thisis as true in the present day as at any former
titne. To understand an age or a nation, we nmst
understand itz philosophy, and to understand its
philosophy we must ourselves be in some degree
philosophers. There iz here a reciprocal causation: the
crounstances of men’s lives do nch to determine
their philosophy, tot, conversely, their philosophy
doezmuch to detenmine thelr droumstances.

There iz also, howewer, a more personal
atnswer. Science tells us what we can know, ot wihat
we can know is little, and if we forget how nmach we
cannot lmow we may become insensifive to many
things of very great importance. Theology, on the that
tand, induces a dogmatic belief that we have
lmowdedge, where in fact we have ignomance, and by
doing =0 generates a ldnd of impertinent insolence
towards the universe.

Uncerttainty, in the presence of vwiwd hopes
and fears, 15 pain flu, but must he endured 1f we wish
to ive without the support of comforting faity tales. It
1z not good either to forget-the cuestions that
phil osophy asks, or to persuade ourselves that we have
found indubitable answers to them. To teach how to
liwe without certainty, and yet without being paralyzed
by  hesitation, is perhaps the chief thing that
philosophy, inour age, can still do for those who study
it
131, The pupose of philosophy 1510

a. Feduceuncertainty and chaos

b, Help us to cope with uncertainty and

arnbi muity

c.  Help usto find expiation for uncertainty.

d. Reducetheterror of coamicloneliness.

132, Based on this passage what can be concluded
about the relation between philosophy and
science?

a. Thetwoare antagoristic.

b, Thetwo are complimentaty,

c. Thereiz no relation between the two.

d. Philosoply derives from science,

133, From reading the passage, what be
cotcluded about the professon of the author?
Heiz most likely MOT tobe a
a. Historian
b, Philosopher
c. SBoientist
d. Theologian

134, According to the avthor, which of the
following staternents ghout the nabwe of the
uriverse st be defindtely true?

The universe has unity

Theuniverse haz a putpose

Theuniverseis evalving towards a goal.

Mone of the abowve,

oo oE

PASSAGES

If tranglated into English, most ofthe Ways econotnists
tallz atnong themselves would zound plavsible enough
to poets, joumalists, Sbusiness people, and other
thoughtfil though noneconomical folk Like serious
talls anywherearmong boat designers and baseball fans,
say — the falk i hard to follow when one has not
trade a hahitof listening to it for a while. The culbre
of the conwersation makes the words arcane. But the
peple in the unfarmliar cotversation are not Mattians.
Underneath it (the economist’s favonte plrase)
comwersational habits are aimilar FEeonotics uses
mathematical models and statistical tests and marlet
arquments, all of wiich look alien to the literary eye.
But looled at closely they are not so alien. They may
be zeen as figures of speech — metaphors, analoges,
and appeals to autharity.

Figures of speech are not mere fulls They
thinl for us. Someone who thinlss of a market as an
finvisible hand” and the organization of worl asz a
‘production function” and itz coefficients as being
‘agnificant’ as an economist does, iz giving the
language a lot of responsibility. It seems a goodidea to
took hard at iz language If the economic
comversation were found to depend a lot on its verbal
forms, this would not mean that economics wodd be
not a soience, or just a matter of opindon, or some sort
of confidence game Good poets, though not scents,
are serious thinkers about symbols, good historians,
though not scientists, are serious thinkers ghout data,
Good scientists also use language. “What is more,
(though it retrains to be shown) they use the cunning
of language, without partticulady meaning to. The
language used is a socdal object and wsing language is
a social act [t requires cumning (or, if you prefer,
consideration) attention to the other minds present
when one speakes,

The paying of attertion to one’s audience is called
‘thetotic’, a word that I later exercise hard. One uses
thetoric, of course, to warh of a fire in a theatre or to
arouse the Zenophotia of the electorate. Thiz sort of
velling iz the sulgar meaning of the wond, like the,
presidents ‘heated rhetoric” in a press conference or
the ‘mere rthetoric’ to which our enemies stoop. Hince
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the Greek flame was lit, though, the word has been
used alzo in a brander ad more atriable sense, to mean
the study of all the ways of accomnplishing things with
language: inciting a mob to Iynch the accused, to be
sure, but also persuading readers of a nowel that its
characters breathe, or bringing scholars to accept the
batter armument and reject the worse,

The question is whether the scholar — who
usually fancies himeelf an announcer of ‘results’ ora
gtater of ‘conclusions’, free at rhetoric speaks
thetorically. Does he try to persuade? It would seems
go. Language, [ just said, is not a solitary
accomplistment. The scholar doesn’t spealt into the
woid, or to himeelf He speaks to a comrmunity of
woices. He desires to be heeded, praised, published,
irmitated, honored, eu-tobeled. These arc tan desires.
The devices of language are the means.

Fhetoric iz the proporticnding of means to
desires i speech. Ehetone iz an econorics of
language, the stady of how scarce means are allocated
to the insatiable desires of people to be heard. It seetns
on the face of it a reasorable bypothesiz that
econotrists are like other people in being talkers, who
desire listeners. Why they go to the library or the
laboratory as nach as when they go to the office o
the palls The purpose here is to see if this is true, and
to see ifit iz usefil: to study the thetonic of econotmic
scholarship.

The subject is scholarship [t iz not the
economnyy, or the adequacy of economic theory az a
description of the economy, or even mairly the
economist’ s role in the economy. The subject 12 the
conversation econorists have among themeelves, for
purposes of persuading each other that the interest
elasticity of demand for investment 12 zero or that the
money supply is controlled by the Federal Foeserve,

Unfortunately, though the conclusions are of
tnore that acadernic interest. The conversations of
classcists or of astronotners tarelyaffect the lwves of
other people. Those of econommists do so on a large
scale. A well knownjolke desciibes a May Day patade
through Fed Square with the usual mass of soldiers,
muided missiles, rocket launchers, At last cotne tank
upon ank of people in gray business suits A
by stander asks, “Who are thosze?™ “Ahal™ comes the
reply, “those are econormists — you have no idea what
darrage they can dol™ Their cotrrersations do it

135, According to the passage, which of the
following iz the best set of reasons for which
one needs to “lock hard” at an econormist's

latmiage?
A, FEconomists accomplish a great  deal
through their language,

B. Economicsisan opirdon-based subject,

. Economics has a great immpact on other's
lives.

. Econotrics is darraging.
A andB
CandD
Land ©

d BandD

136, In the light of the definttion of thetoric gven
in the passage, which of the following will
hawetheleast element of rhetornc?

a. An election speech
b An advertizernent jingle

oo B

c. Dialogues in a play
d. Commands given by atroy offi cers.

137, Asused inthe passage, which of the following
15 the closest tmeasing to the statement, “The

culture of the conversation malees the words
atrcaner’”

a. FEconomists belong toa differert culture.

h. " Only rrathernaticians can understand
eComotsts.

c. Economdsts tend touse terms unfamiliar to
the lay person, but depend on faruliar
linguistic fhnms.

d. Econorists use simdles and adjectives in
their analyas.

138, Asused inthe pazsage, which ofthe following
1sthe closest altemative to the word ‘arcane’™

a. Mysterious
b Secret

o Covert

d. Perfidious

139, Based on yor understanding of the passage,
which of the following concusions would you
agree with?

a. The geocentric and the heliocentric views
of the solar systern are equally tenable.

b, The heliocentric view iz supetior because
of better thetaric,

c. Both wiews uzerhetoricto persuade.
d. Soentists should not use thetoric,

PASSAGE 4

Thete ate a seemingy endless variety of laws, restriction
custom s atud traditions thet affect the practice of abortion
aroand the world Globaly, abortion is probably the single
mog cottroversia izsue inthe whole area of women’ s rights
and fanily matters It is an issue that inflames women's
right sroups, teligious instititions and the self-proclamed
‘guardians of public mordity. The growing woldeide
belief is that the rght to control one’s fertdity is a basic
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bouman right; this has resildted in a worldwide trend tow ads
liheralization of dhortion laws Forty percert of the world's
poplation lves in cowdries where induced abortion is
permitted on recuest An additional 25 percent Hwe in
couetries where it is dlowed if the womeen's 1ife wodd be
etndatizered if she wert to fuldl term with her pregnancy. The
estithate is that between 26 and 31 million legal ahortions
were petformed in 1987 Howeret, there were dso betwesn
10 ard 22 milli o dlegal abortions performedin that year,

Feminists have wiewed the pariarchal condrol of women's
bodies as ote of the prime issues facing the cottemporary
wommeny's movement. They observe that the defirition and
cortrol of women's reproductive freedom has always been
the province of men Patriarchal religion, as manifest in
Tglatmic fundamentalism, traditionalist Hindo  peactice,
otthodox Judadsm, and Foman Catholicism, has heen an
iuportart kHaorical cortribotory factor for this oand
corfitmes to be & inportant presence in cotdemporary
societies. In recent times, goverrmments usually controlled
by tmer, have *gven” women the right to corbraceptive use
and ahortion access when their courtries were perceived to
have an overpopndati o protlem. When these coutries are
petceived to be wnder popilated that right has been absent.
Uil the nineteenth cenbry, a woman's tights to an
ghortion followed English common law, it could oy be
legally chall enged if there was a ‘quickening, when the first
movemerts of the foetus codd be felt. In 1800, drugs to
iwdace  dhortions  were  widely  adwvertised in local
tewsgpapers. By 1900, abortion was baned in every stae
except to save the life of the mother The change was
srongly influeticed by the medical peofession which
focused its campaion ostenably on heath and safety isq0e8
for pregnart women and the sauctity of Life. Tt poation das
dlso ameans of control of nonli censed medical practitione:s
such as midwives and wormen hedes who practiced
ahort oty

The anti-abortion campa gnowas also isfluenced by
political considerations. The large ifhe of eastern and
southern European immigy ands with theirdarge Families was
seery as threat to the poplation balance of the figure United
States. MWhiddle ad Upper class Protestants were adwvocates
of abortion as a form of birth control. By supporting
ghortion probibitions the hope was that these Americans
wold have more children and thos prevent the tide of
iutmigrat babies framo overwhelming the demograpbic
chatacteristics of Prote sttt Stmetica.

The arti-abortion legislative position remained in effect in
the Urited States thwough the first sixtyfive wears of the
prrertieth cenbay. I the eatly 1 9605 even when it was
widdy known that the doag thalidomide taken duing
pregnancy to alleviate anxiety was duown to contritnte to
the formation of deformed “flippeslike’ hands or legs of
childrer, ahorti o wasillegal inthe United 3lates. A second
hedth tragedy was the severe otbreak of nabella during the
sane titme period, which also resulted in msjor birth defects.
These tragedies combined with a change of attitude towards
awotnat's ight to privary led a ronber of states to pass
b ot oo pertnd ting el slati o

O one side of the controversy are those who cal
them selves “pro-life’. They wew the foetns us abuwran life
tather thaty as anoanformed complex of cells, therefore they
hiold to the belief that abortion is essentially mowder of @
wibort child. These groups cite both legd and regions
reasotns for their opposition to shortion Pro-lifers poird to

the rise in legalized shorfion figwe and see this as morally
irtolerable. On the other side of the isa1e are those who call
themzelves “pro- choice’. They believe that wotmer, not
legislators of judges, showdd have the 1 ght to decide whether
and wnder what cirownsatces they will bea children Pro-
chioicer are of the opinion that laws will not prevent women
from having ahorticns and cite the horror stories of the past
when matyy women ded & the hands of “backroow’
ghorticri sts and in desperate atempts to self abort. They
dlan observe that legalized shortion is especialy important
for tape wictims and incest wctims who became pregrsnt.
Thesr stress physical and mental heath reasons wher women
ghoul d not have wwanted chil dren

To get a better understanding of the ourrent
ghortion controversy, et us examine a vety importat work
by Fristin Luker titled Abottion and the Poliics of
Liotherhood. Liker argoes that female pro-chaice and pro-
life activists hold differert world ews regarding gender,
sex, and the meaning of parenthood. Mord podtions on
ghortions are seen to he ted infimately to views on sexual
behad o, the care of childres, famdly 1if'e, techiology, and
the importance of the indisidual. Luker identifies “pro-
choice” women as educated  affluert, and liberal. Their
contrasting coutierparts,  Cpro-life’  women,  support
traciti oral cofcepts of women as wives and mothers [t
wold be instractive to sketch ot the differences in the
wotld sAews of these turo sets of women. Luker ex amines
Califormia with its liberalized shortionn law, as a case
higtory, Public docwrents and newspaper accods over a
trrerity-year period wete analyzed and ower 200 intervewrs
wete hield with both pro-life and pro-chodee actists,

Luker found that pro-life and pro-choice activists
have intrinsically different wiews with respect to gender
Pro-life women have a notion of poblic and private 1ife. The
proper place for men is in the pablic sphere of work, for
womery, it is the private sphere of the home. Ien berefit
through the marharance of woren, women benefit through
the protection of men Clildren are seen to be the wtimate
betieficiaties of this arrangesment by havitg the mother us a
fudl-time lovityg parerit and by having dear role models. Pro-
chioice advocates reject the wew of separate spheres. They
object to the notion of the home being the “women's
gphere’, Women's reproductive and family roles are seen as
potettial hatriers to full ecquaity, Mothethood iz seen az a
volurdaty, ot a mandatoey or “natural” role.

In Bummarizing her findings, Tuker beliewes that
wotnen becotie activists in either of the tero movemernts as
the end result of Hwes that center arowd dfferent
conceptuaizati ons of motherhood Thelr beliefs and walues
are rooted to the concrete circumdances of their lives, their
educati ors, oot es, occupations ad the difrent moarital and
family choices that they have made. They tepresent two
differert world wiews of wotmen's roles in contemporany
aociety ad as sach the abottion issoes represent the
batfl egronand for the justifi cati on of their respective wews.

140, According to your understanding of the
author’s arpument which countties are more
likely to allow abortion?

a. India and China
b, Australia and hongadia
c. Camnot be inferred from the passage
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d. Both(a)and (b)

141, Which amongst these was NMOT a reason for
hating of ghartions by 19007

a. Dledical professionals stressing the health
and safety of women

b Influx of eastern and southern European
itntrigrants.
c. Cortrol of
practitioners
d. A tradition of tatnarchal control.
142, A prodife worman would advocate abortion if
a. Themother of an unbom child 15 suicidal

b, Beating a child conflicts wath a wormean's
CAreer prospects.

urdicensed medical

c. The tother hecotmes

accidentally.
d. MNone of the abowve,

143, Pro-choice wotmen object to the notion of the
home being the “women’s sphere’ because
they helieve

a. That the home iz a “joint sphere’ shared
between men and wornen

pregnarnt

b, That reproduction is a rratter of choice for
WOTTLELL

c.  That menand women are equal
d. Both (b and ()
144, Two health tragedies affecting U3 sodety in
the 1960z1ed ta
a. A change in attitude to wornen' s nght to
privacy
h. Fetaining the antiabotfion laws wath
sorme exceptions
C. Borapping to anti-abortion laves
d. Strengthening of the pro-lifelobby,
145, Histoneally, the pro-choice movement has got
suppott-frotmn, among others
a. Nlajorattdarchal religions
b, Countriegwath low populations density
c. medical profession
d. Mone ofthe above,

PASSAGE 5

The production of tstories of India has hecotme wery
Fequent in recent years and may well call for some
explatiation. Why =0 many and why this one is
patticulat? The reason isa two fold one: clanges in the
Indian scene requiring a reitterpretation of the facts
and changes in attitudes of historians about the
essential elements of Indian history. These two
condderations are in addition to the normal fact of

fresh inforrration, whether in the form of archeologcal
dizcoveries throwing frech light on an obscure period
of culture, of the revelations cavused by the opening of
archives or the release of private papers. The changes
in the Indian scene are too obwious to need erphasis.
Oy two generations ago Britich nile seemed to mmost
Indian az well as British ohservers likeely to extend into
an indernnity foture;, now there is a teenage generation
which knows nothing of it. Changes in the attitudes of
historians have ocourred everywhere, changes in
atitudes to the cortent of the subject as well as to
patticular conntries, but in India there have been some
special  features.  Prior to the British, Indian
historiogmphers were mostly Mudims, who relied, as
in the case of Sayyid Ghularn Husgsain, on theit own
recollection of events and on infortnation fom fiends
and tnen of affairs. Only a few like Abul Fazl had
access to offidal papers These were personal
tatratives of events warying in value with the rature of
the writer; the early British waiters were officials. In
the sighteenth century they wwere concerned with some
aspect of Cotnpany policy, of, like Fobert Onme in his
IWlhilitary Transactions, gave a straight narrative in what
was essentially a contimation of the huslim tradition.
In the eatly nineteenth centiry the wnters were still,
with twn notable exceptions, officials, but they were
noweengaged in chromcling, in vatying moods of zest,
pride, and awe, the rise of the British power in India to
suprerracy . The two exceplions were James Will, with
iz cotical attitude to the Company and Joln
Ilarchiman, the Baptist mizsionary. Bt they, like the
officialz, were ango-centric in their attiude, so that
the history of modem India in their hands came to be
the history of the nse of the British in India.

The official schod domninated the writing of
Indian history wntil we get the first professional
historian’s approach, Rarnsay Wuir and P E. Roberts
in England and HH. Dodwell in India. Then Indian
historians trained in the English school joined in, of
whotn the most distinguished was Sir Jadunath Sarkar
atd the other notable writers: Surendranath Sen, Dr
Fadhalrmd MNukerji, and Professor Milalanta Saste.
They, it tray be said, restored India to Indian Hstory,
bt theit bias was mainly political. Finally have come
the nationalists who range from those who can find
tiothing good ot true in the British to sophisticated
historical philosophers lilee B IV Pandldzer.

Along wath types of historans with their
warying hias have gone changes in the attitude to the
cortent of Indian history, Here Indian historians have
been influenced both by their local stuation and by
changes of thought elsewhere. Itisinthis field that this
worke can claim some attention since it seels to break
new ground, or pethaps to degpen a feshly tumed
furrow in the field of Indian history. The eady offical
historians were content wath the damour and drama of
political history from Plaszey to the Wutiny, fom
Duplex to the Sikhs But when the mj was setfled
down, glamour departed from politics, and they tumed
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to the less glorious ot rore solid ground of
adtrind stration. Mot how [ndia was conguered but how
it was governed was the themme of this school of
historians It found itz archpriest in HH. Dodwell, its
priestess in Dame Lilian Pensorn, and its chief shrine in
the Wolume W1 of the Cambridge History of India
Meatrwtile in Britain other currents wetre moving
which led historical study into the econommic and social
fields E.C. Dutt entered the first of these corrents wath
bz Feonomic History of Inda to be followed tnore
recently by the whole growp of Indian economic
historians. W.E. Moreland extended these studies to
the Mughal Period Social history iz now being
increasingly stadied and there is also of course a
school of nationalist historians who see modern Indian
bistotry in tertns of the rse and the fulfillmmernt of the
tational mowverment.

All these approaches have walue, tut all share
in the quality of being compartmental. it iz not enough
to remowe political history fom its pedestal of being
the orly kind of hustory worth hawing if it 15 merely to
mat other types of history inits place. Too exclusive an
attertion to economic, social or administmtive history
can bhe as stenle and midleading as too mmch
concentration on politics. A whole subject needs a
whiole treatment for understanding. A historan must
dizzect his subject into its elements and then fuse them
together again into an integmted whole. The tue
history oa country rrast contain all the features just
cited but rmst present them as parts of a single
condstent theme.

146, Which of the following may be the clozest in
meaning to the statement “restored India to

Indian i story?™

a. Indian histonans began wmting Indan
history

b, Trined ‘histopans began writing Indian
history

o Writing India-centic Indian history began
d. Indian history began to be wnttenin India
147, Which of the following iz the clogest
implication af the statement “to breall new

ground, or pethaps to despen a feshly tumed

143,

149,

150,

a. Digafresh or dg deeper

h. Statt a new streamn of thought or help
establish a recertly emerged perspective

c. Begn or conduct fiwther workle on existing
archeological  sites  to uneath  new
evidence.

d. Begn winting a history free of aty biases.

Historan moved from writing political history
to wmting administrative history because

a.  Attitude ofthe historian change

h. The “Faj’ was settled down

c. Politics did not retain itspast glarour
d.

Admird strative history was based on solid
aroutud

According to the outline which of the
following iz not armmong the attitude of Indian
hiztorian of Indian ongin?

a. Writing story agpersonal natrative

b, Wiriting history with political bias

c. | Writing non-political Iistory due totake of
glamor

d. Writing history dissecting elements and
integmting them agin

I the table giwen below match the historian to
the approaches taken by them.

A Admim strative

Folitical

. Marrative

. Econotric
Fobert Crme
H.H. Dodwell
Fadralorod kukharii
F. C Dt
A-2.B-3,C-1,D4
A-1,B-2,C-3, D4
4-3.B-2,C-1,D4
A-2, B4, C-1,D-3
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